Standard Grade Non-calculator skills (General/Credit)


SET 28 (CREDIT)
· Questions 1 to 10 should be done mentally
· You can use a pencil and paper if required for the remaining questions
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QUESTION�
QUESTION�
�
Calculate � EMBED Equation.3  ���.





�
	Given that � EMBED Equation.3  ���, show that 


� EMBED Equation.3  ���(Tricky!!!)�
�
Calculate � EMBED Equation.3  ���.


�
17.	A function is defined by � EMBED Equation.3  ���. Find 	the value of x such that � EMBED Equation.3  ���.


�
�
Calculate � EMBED Equation.3  ���.


�
18.	Simplify � EMBED Equation.3  ���.


�
�
Calculate � EMBED Equation.3  ���.


�
19.	Solve the equation � EMBED Equation.3  ���.





�
�
Calculate � EMBED Equation.3  ���.�
20.	Express � EMBED Equation.3  ���as a fraction with a rational 	denominator.


�
�
Calculate � EMBED Equation.3  ���.


�
Express � EMBED Equation.3  ���as a single surd.





�
�
Calculate � EMBED Equation.3  ���.�
22.	Solve the equation


� EMBED Equation.3  ���.�
�
Calculate � EMBED Equation.3  ���.�
23.	Solve the equation � EMBED Equation.3  ���.


 �
�
Calculate 30% of £2500.�
24.	Make p the subject of the formula� EMBED Equation.3  ���.


�
�
Calculate � EMBED Equation.3  ���.


�
Expand and simplify � EMBED Equation.3  ���.�
�
Calculate � EMBED Equation.3  ���.�
26.	Solve the system of equations


� EMBED Equation.3  ���.�
�
Calculate� EMBED Equation.3  ���. �
27.	Simplify � EMBED Equation.3  ���.


�
�
Calculate � EMBED Equation.3  ���.�
28.	Express � EMBED Equation.3  ���as a single fraction in 	its simplest form.�
�
Calculate � EMBED Equation.3  ���.�
29.	Factorise fully � EMBED Equation.3  ���.


�
�
Calculate � EMBED Equation.3  ���.�
30.	A function is defined by � EMBED Equation.3  ���. 	Evaluate � EMBED Equation.3  ���.�
�
�
�
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